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class (d{kk) % VIII
science & technology

(foKku ,oa izkS|ksfxdh)
(Summative Assessment - II)
(ladyukRed ewY;kadu & II)

Time : 3 Hrs.		  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs			   vfèkdre vad % 90
General Instructions :
1.	 The question paper consists of 2 sections - Section A (having 27 questions) and Section B  
	 (having 12 questions).
2.	 All questions are compulsory.
3.	 There is no  overall choice. However, internal choices have been provided in all questions  
	 of 5 Marks Category and 3 questions of 2/3 marks category.
4.	 All questions of Section A and Section B are to be attempted separately.
5.	 Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice type  
	 questions and carry 1 mark each.
6.	 Questions 5 to 10 in Section A, and Questions 30 to 32 in Section B, are very short answer  
	 type questions and carry 1 mark each.
7.	 Questions 11-16 in Section A and Questions 33 to 35 are short answer type questions and  
	 carry 2 marks each.
8.	 Questions 17 to 23 in Section A, and Questions 36 and 37 in Section B, are also short answer  
	 type questions and carry 3 marks each.
9.	 Question 24 to 27 in Section A, and Question 38 and 39 in Section B, are long answer type  
	 questions and carry 5 marks each.
lkekU; funsZ'k %
1-	 bl iz'u&i=k ds nks [kaM gSa&[kaM ^v* (ftlesa 27 iz'u gSa) vkSj [kaM ^c* (ftlesa 12 iz'u gSa)A  
	 vkidks nksuksa gh [kaMksa ds iz'u djus gSaA
2-	 lHkh iz'u vfuok;Z gSaA
3-	 dksbZ lkefxzd fodYi ugha fn;k x;k gSA rFkkfi 5 vad dh Js.kh ds lHkh iz'uksa rFkk 2@3 vad dh  
	 Js.kh ds 3 iz'uksa esa vkarfjd fodYi iznku fd, x, gSaA
4-	 [kaM ^v* ds lHkh iz'u vkSj [kaM ^c* ds lHkh iz'u vyx&vyx djus gSaA
5-	 [kaM ^v* esa iz-la- 1 ls 4] rFkk [kaM ^c* esa iz-la- 28 vkSj 29] cgq&oSdfYid iz'u gSa ,oa buesa ls  
	 izR;sd dk 1 vad gSA
6-	 [kaM ^v* esa iz-la- 5 ls 10 rFkk [kaM ^c* esa iz-la- 30 vkSj 32 vfr y?kwmÙkjkRed iz'u gSa ,oa  
	 buesa ls izR;sd dk 1 vad gSA
7-	 [kaM ^v* esa iz-la- 11 ls 16 rFkk [kaM ^c* esa iz-la- 33 ls 35 y?kwÙkjkRed iz'u gSa ,oa buesa ls  
	 izR;sd 2 vadksa dk gSA
8-	 [kaM ^v* esa ç-la- 17 ls 23 rFkk [kaM ^c* esa iz-la- 36 vkSj 37] Hkh y?kqÙkjkRed iz'u gSa ,oa buesa  
	 ls izR;sd iz'u 3 vadksa dk gSA
9-	 [kaM ^v* esa ç-la- 24 ls 27 rFkk [kaM ^c* esa iz-la- 38 vkSj 39] nh?kZ mÙkjkRed iz'u gSa ,oa buesa  
	 ls izR;sd iz'u 5 vadksa dk gSA

Roll No. (vuqØekad) ------------------------------			  Code (dwV la-) % 820155-SA2(W)

Please check that this question 
paper contains 39 questions 
and 16 printed pages.
Ñi;k tk¡p dj ys a fd bl 
iz'u&i=k esa 39 iz'u rFkk 16 Nis 
gq, i`"B gSaA



(2)VIII-SCIENCE & technology

section - a ([kaM&v)

1.	 A prominent constellation, looking like a distorted form of the letter W 

or M, is the				  

(a)	 Cassiopeia	 (b)	 Big dipper		   

(c)	 Orion	 (d)	 Ursa minor	  

,d izeq[k rkjke.My] tks vkdkj esa fod`r W vFkok M tSlk fn[krk gS] og gS		

(a)	dsflfi;k	 (b)	 fcx fMij					  

(c)	vksfj;u	 (d)	 ÅlkZ ekbuj

2.	 The maximum displacement of a vibrating body, on either side of its mean position, 

is known as its					       	  

(a)	 frequency	 (b)	 loudness		  

(c)	 amplitude	 (d)	 pitch	 

nksfyr (dEi;eku) oLrq }kjk viuh eè;e fLFkfr ls r; dh xbZ vf/dre nwjh D;k 

dgykrh gSa									      

(a)	vko`fr	 (b)	 izcyrk					   

(c)	vk;ke	 (d)	 rkjRo

3.	 A substance, that can be used to purify water from its suspended impurities, is 

(a)	 Alum	 (b)	 Phosphorus			    

(c)	 Sodium	 (d)	 Zinc	  

,d oLrq] ftldk mi;ksx ikuh dh fuyafcr v'kqf¼;ks dks gVkus ds fy;s fd;k tkrk 

gS] mldk uke								         

(a)	,ye gS	 (b)	 iQkWLiQksjl gS			    

(c)	 lksfM;e gS	 (d)	 tLrk gS

4.	 Brass	 

(a)	 Is an alloy of (copper+tin)	 (b)	 Is an alloy of (iron+carbon)	  

(c)	 Is an alloy of (copper+zinc)	 (d)	 Is a pure metal	  

ihry (czkl)		   

(a)	(rkEck$fVu) ls cuh feJ èkkrq gSA	 (b)	 (yksgk$dkcZu) ls cuh feJ èkkrq gSA	

(c)	 (rkEck$tLrk) ls cuh feJ /krq gSA	 (d)	 ,d 'kq¼ /krq gSA

1

1

1

1



(3)VIII-SCIENCE & technology

5.	 Name a metal which occurs in its native or elemental stage.	  

,slh /krq dk uke crkb, tks viuh ewy izkÑfrd (ijek.kqdh;) fLFkfr esa ikbZ  

tkrh gSA

6.	 Name the periodic comet that appears again and again at intervals of (nearly) 76 

years.									       

yxHkx 76 o"kZ ds varjky ij iqu%iqu% fn[kus okys vkorhZ/qe dsrw dk uke fyf[k;sA

7.	 There may be many explosion and noises taking place in the outer space but we 

normally do not hear them why?								      

ckg~; vkdk'k esa gksus okys dbZ izdkj ds foLiQksV rFkk 'kksj gesa lkekU;rk lqukbZ ugha nsrsA 

D;ksa\

8.	 Define the term :	  

'Relative refractive index'.								      

^rqyukRed vioÙkZu fLFkjkad* dks ifjHkkf"kr dhft;sA

9.	 Fill in the blanks :	  

Domestic sewage promotes the growth of __________ and __________ which use up 

lots of oxygen dissolved in water and reduce its amount in it.				     

fjDr LFkku Hkjsa %	  

?kjsyw ey fu;kZr ty esa __________ vkSj __________  dh mRifÙk dks c<+kok nsrk gS] tks 

ikuh esa ?kqyh vkWDlhtu dk mi;ksx djds mldh ek=kk de dj nsrs gSaA

10.	 Name the property of silver which makes it suitable for decorating food stuff.	  

pkanh ds ml xq.k dk uke crkb, tks mls [kk| lkexzh dks ltkus ds fy, mi;qDr  

cukrk gSA

11.	 Give reasons for the following :	  

(a)	 Nylon is used for making socks.	  

(b)	 Acrylon is used for making blankets.			    

fuEufyf[kr ds dkj.k crkb, %	  

(a)	ukbyksu dk iz;ksx eksT+ks cukus ds fy, fd;k tkrk gSA	  

(b)	,fØyksu dk iz;ksx dEcy cukus ds fy, fd;k tkrk gSA

1

1

1

1

1

1

2



(4)VIII-SCIENCE & technology

12.	 Differentiate between metals and non-metals on the basis of the following physical 

properties :					      

(A)	 Thermal conductivity	 (B)	 Ductility	 

èkkrqvksa ,oa vèkkrqvksa ds chp fuEufyf[kr HkkSfrd xq.kksa ds vkèkkj ij vUrj Li"V djsa % 	 

(v)	m"ek pkydyk	 (c)	 rU;rk (yphykiu)

13.	 (a)	 Define the term reactivity?	  

(b)	 Which of the two, Calcium or Mercury, is more reactive?			   

(a)	vfHkfØ;k'khyrk (fj;SDVohVh) dks ifjHkkf"kr dhft;sA				  

(b)	dSfY'k;e rFkk ikjs (ejdjh) es a dkSu lh /krq vf/d vfHkfØ;k'khy  

	 (fj;SDfVo) gS\

14.	 Identify the constellation given below. Write the name given to the stars F and G 

of this constellation.								      

uhps fn[kk;s x;s rkjk lewg (dkUlfVys'ku) dks igpkfu,A bl rkjk lewg ds F  rFkk G 

rkjksa dk uke fyf[k,A

	A lternative question for visually challenged students in lieu of Q. No. 14	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 14 dk oSdfYid iz'u		   

In what respect is the pole star different from the other stars?				  

/zqo rkjk ckfd vU; rkjksa ls fdl izdkj fHkUu gS\

15.	 Name the part of the eye that	  

(A)	 Is responsible for the characteristic colour of the human eye	  

(B)	 Controls the amount of light entering the eye.	  
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(C)	 holds the eye lens in its position	  

(D)	 is a delicate membrane having an enormous number of "photoreceptors"	  

vk¡[k ds ml Hkkx dk uke fyf[k, tks &		   

(A)	mlds fof'k"V jax dk dkj.k gksrk gSA								     

(B)	mlesa izfo"V gksus okys izdk'k dh ek=kk dks fu/kZfjr djrk gSA				 

(C)	vk¡[k ds ySal dks vius fLFkfr esa cuk;s j[krk gSA					     

(D)	,d dksey f>Yyh gS ftl ij cgqr vfèkd la[;k esa izdk'kh; vfHkxzkgd  

	 (iQksVksfjlsIVjl) gksrs gSaA

OR (vFkok)

	 Name the light sensitive cells on the retina that do not get activated in a dimly lit 

room. State the main function of these cells. Name any two colours to which these 

cells are generally sensitive.								      

vk¡[k ds jSfVuk ij ikbZ tkus okyh mu izdk'k laosnu'khy dksf'kdk,a (lSyksa) dk uke fyf[k, 

tks de izdk'k esa fØ;kjr ugha gks ikrhA bu dksf'kdkvksa lSyksa dk eq[; dk;Z crkb,A ;g 

dksf'kdk,a (lSy) fdUg jaxksa (dksbZ nks) ds izfr vf/d laosnu'khy gksrh gSa\

16.	 Mention any two practical devices that make use of convex lenses.			    

mRry ysal dks iz;ksx esa ykus okys fdUgha nks midj.kksa ds uke fyf[k,A

17.	 Complete the given ray diagram.								      

fn, x, fdj.k vkjs[k dks iwjk dhft,A

OR (vFkok)

	 State the nature and size of the image formed?							    

cuus okys izfrfcEc dh izÑfr vkSj vkdkj crkb,A
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	 Alternative question for visually challenged students in lieu of Q. No. 17	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 17 dk oSdfYid iz'u		   

State the nature, size and position of the image formed when an object is kept 

between the F and 2F points of a convex lens?							    

fdlh oLrq dks mRry ysal ds F vkSj 2F  fcUnqvksa ds chp j[ks tkus ij cuus okys izfrfcEc 

dh izÑfr] vkdkj ,oa fLFkfr crkb,A

18.	 Sohan went to his father's factory and noticed a strong foul smell coming 

from the drains in the industrial areas. He enquired about the waste being 

thrown in the drains. He explained the harms of throwing industrial waste 

in the drains to the factory owners. He also told them about the remedial 

measures and updated them about the laws for industrial units.		

(A)	 State / suggest any two measures that must be taken to check pollution by  

	 industrial units.	  

(B)	 Write (any two) values depicted by Sohan.						       

tc lksgu vius firkth ds dkj[kkus x;kA ogka mlus ik;k fd ml m|ksx uxj dh ukfy;ksa ls 

rhoz nqxZU/ vk jgh FkhA mlus ukyh esa iSaQds tkus okys dwM+s djdV ds ckjs esa iwN&rkN dhA mlus 

m|ksxifr;ksa dks vkS|ksfxd dpjs dks ukyh esa iSaQdus dh gkfu;ksa ls voxr djk;kA mlus mUgsa 

mipkjh mik; Hkh crk;s rFkk mUgas vkS|ksfxd bdkb;ksa ls lEcfU/r dkuwuks ls Hkh voxr djk;kA 

(A)	dksbZ nks mik; crkb;s ftuls vkS|ksfxd bdkb;ksa }kjk gksus okys iznw"k.k dks fu;fU=kr  

	 fd;k tk ldrk gSA	  

(B)	lksgu }kjk iznf'kZr dksbZ nks voewY; crkb,A

19.	 (a)	 Name the following :	  

	 (i)	 The hottest planet	  

	 (ii)	 Third largest planet of solar system					     

	 (iii)	 Largest asteroid					      

	 (iv)	 A bright star in Orion constellation							        

(b)	 What is a meteorite?			    
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(a)	uke crk,¡ %	  

	 (i)	lcls T;knk xeZ xzgA	  

	 (ii)	lkSj e.My dk rhljk cM+k xzgA	 

	 (iii)	lcls cM+k {kqnzxzg (,LVªkWbM)	  

	 (iv)	vksfj;u rkjke.My dk ,d mTtoy rkjkA						       

(b)	mYdk fiaM (ehfV vjkbV) fdls dgrs gSa\

20.	 (a)	 We hear the sound of thunder a little after we see the flash of lightning.  

	 Why?				     

(b)	 What is sign language? For whom is it useful?		  

(c)	 Write any two measures that can help to limit noise pollution.			 

(a)	¶gesa cknyksa ds xjtus dh vkokT+k] fctyh dM+dus ds dqN nsj ckn gh lqukbZ nsrh  

	 gS\¸ D;ksa\								      

(b)	^fpUg Hkk"kk* D;k gS\ ;g fduds fy, mi;ksxh gS\						   

(c)	 èofu iznw"k.k dks lhfer djus esa lgk;d dksbZ nks mik; crkb,A

21.	 (A)	 Label the parts 								      

	 (i)	 a, b and c in the following diagram of human ear				  

	 (ii)	 State the functions of each of these three parts				  

(A)	 fn, x, fp=k dks è;ku ls ns[ksA								      

	 (i)	 a, b vkSj c Hkkxksa ds uke crkb,A							       

	 (ii) bu Hkkxksa ds dk;Z Hkh crkb,A
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	A lternative question for visually challenged students in lieu of Q. No. 21	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 21 dk oSdfYid iz'u		   

Name the three parts of the human ear and state their functions.			 

ekuo d.kZ ds rhu Hkkxksa ds uke fyf[k, ,oa muds dk;Z Hkh crkb,A

22.	 State any three characteristics of synthetic plastics.			    

la'kysf"kr IykfLVd dh dksbZ rhu fo'ks"krk,sa crkb,A

OR (vFkok)

	 State any three advantages of synthetic fibres.	 

la'kysf"kr js"kksa ds dksbZ rhu ykHk fyf[k,A

23.	 (a)	 Which type of sounds are considered as noise?	  

(b)	 The frequency of a sound is 10 Hz. Is it audible? State the reason in  

	 support of your answer.	  

(a)	 fdu izdkj dh èofu;ksa dks ^'kksj* dgk tkrk gS\	  

(b)	fdlh èofu dh vko`fÙk 10 Hz gSA D;k ;g èofu Jo.kh; gSa\ vius mÙkj dh iqf"V  

	 ds fy;s dkj.k fyf[k,A

24.	 (a)	 Write the full form of PET	  

(b)	 "Excessive use of plastic is a threat to the environment". Give any two  

	 reasons that support of this statement.					      

(c)	 Differentiate between biodegradable and non-biodegradable wastes.  

	 Give one example of each.			    

(a)	 ^ih-bZ-Vh-* dk iwjk vFkZ D;k gS\	  

(b)	¶IykfLVd dk vR;f/d iz;ksx i;kZoj.k ds fy, gkfudkjd gS¸A bl dFku dh iqf"V  

	 esa dksbZ nks dkj.k fyf[k,A		   

(c)	 ¶tSo fuEuhdj.kh;¸ rFkk ¶tSo vfuEuhdj.kh;¸ dwM+k&djdV esa vUrj crkb,A  

	 izR;sd dk ,d&,d mnkgj.k nhft;sA

OR (vFkok)
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	 (a)	 Why is rayon not truly an artificial fibre?		 	 	  

(b)	 Give two uses of Rayon.	  

(c)	 What type of arrangement of monomers is found in thermoplastic and  

	 thermosetting plastics? Also give one examples of each type.		   

(a)	 js;kWu ,d iw.kZr;k Ñf=ke js'kk (iQkbcj) D;ksa ugha gS\	 

(b)	js;kWu ds nks mi;ksx crkb,A		   

(c)	 FkeksZIykfLVd rFkk FkeksalSfVax IykfLVdksa esa eksuksej fdl izdkj O;ofLFkr gksrs gSaA  

	 izR;sd dk ,d&,d mnkgj.k Hkh crkb,A

25.	 (a)	 State the terms used for following :	 

	 (i)	 The line that joins the centres of curvature of the two surfaces of a lens.	 

	 (ii)	 The special point of a lens through which a ray of light passes  

		  undeviated.		   

(b)	 A coin, not visible in a cup, (when seen from some distance) becomes  

	 visible, after some water is poured in the cup. Give reason, and draw a  

	 diagram, in support of your answer.		   

(a)	 fuEufyf[kr okD;ka'kksa ds fy, mfpr 'kCn fy[ksa	  

	 (i)	 og js[kk tks ySal dh nksuksa lrgksa ds dsUnzksa dks feykrh gSA	  

	 (ii)	ySal dk og fo'ks"k fcUnq ftlls fdj.ksa fcuk ekxZ cnys fudy tkrh gSA	 

(b)	di esa iM+k gqvk flDdk tks (dqN nwj ls ns[kus ij) fn[k ugha jgk Fkk] ikuh Mkyus  

	 ij fn[kus yx tkrk gSA bldk dkj.k crkb, ,oa vius mÙkj dh iqf"V ds fy;s fp=k  

	 Hkh cukb,A

	 Alternative question for visually challenged students in lieu of Q. No. 25(b)	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 25 (b) dk oSdfYid iz'u	 

A coin, not visible in a cup, (when seen from some distance) becomes 

visible, after some water is poured in the cup. Explain.			    

¶fdlh I;kys esa j[kk gqvk ,d flDdk tks (dqN nwj ls ns[kus ij) igys fn[k u jgk gks] 

ikuh Mkyus ij fn[kus yx tkrk gSA¸ dkj.k crkb,A

5
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OR (vFkok)

	 (a)	 State the rules which govern the propagation of a ray of light when it goes  

	 from one transparent medium to another.						    

(b)	 Draw a diagram showing the path of a ray of light when it goes from air  

	 into a rectangular glass slab and then back in air. Mark the incident ray and  

	 the emergent ray on your diagram.	 

(a)	çdk'k dh fdj.kksa dk ,d ikjn'khZ ekè;e ls nwljs ,sls ekè;e esa tkus dh izfØ;k  

	 fdu fu;eksa ds varxZr gksrh gS\								      

(b)	izdk'k dh fdj.ksa gok ls ,d vk;rkdkj 'kh'ks esa tkdj iqu% gok esa fudy jgh  

	 gSA bl izfØ;k dks ,d fp=k }kjk n'kkZ,¡A fp=k esa vk;frr fdj.k rFkk ckÞ;xkeh  

	 fdj.kksa dks ukekafdr dhft,A

	A lternative question for visually challenged students in lieu of Q. No. 25(b)	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 25 ds Hkkx (b) ds fy;s oSdfYid iz'u 

(b)	 Define the terms angle of incidence, angle of refraction and angle of  

	 emergence for a ray of light going from air into a rectangular glass  

	 slab, and then back in air. Which of these angles has the least value?  

	 Which two of these angles are equal to each other?				     

(b)	izdk'k fdj.ksa gok ls ,d vk;rkdkj 'kh'ks esa tkdj iqu% gok esa fudy jgh gSA bl  

	 izfØ;k ds fy, vk;ru dks.k] viorZu dks.k rFkk ckÞ;;xeu dks.k dks ifjHkkf"kr  

	 dhft,A buesa ls fdl dks.k dk eku U;wure gksrk gS\ bueas ls dkSu ls nks dks.k vkil  

	 esa cjkcj gksrs gSa\

26.	 (a)	 Differentiate between myopia and hypermytropia on the basis of the  

	 change in the	  

	 (i)	 focal length of the eye lens	  

	 (ii)	 size of the eyeball 	  

(b)	 How can these be corrected? Draw diagrams also.	 5
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(a)	 ^fudV n`f"V nks"k* vkSj ^nwj n`f"V nks"k* ds chp fuEufyf[kr ifjorZuksa ds vkèkkj ij  

	 vUrj Li"V dhft;s %				     

	 (i)	vk¡[k dh ySal dh iQksdy yEckbZ nwjh	  

	 (ii)	vk¡[k ds xksys (vkbZckWy) dk vkdkj							     

(b)	bu nks"kksa dks dSls lq/kjk tk ldrk gS\ blds fp=k Hkh cuk,saA

	 Alternative question for visually challenged students in lieu of Q. No. 26(b)	  
n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 26 (b) dk oSdfYid iz'u		  
How can these be corrected? Explain.						       
bu nks"kksa dks lq/kjus dh fof/;ksa dks le>k,aA

OR (vFkok)

	 (a)	 What do you understand by	  
	 (i)	 The range of vision of the human eye		   
	 (ii)	 Blind spot of the human eye	  
(b)	 Who developed the 'Braille system'? How many dot patterns are used in  
	 this system. How do these patterns help visually challenged persons to  
	 recognise words?			    
(a)	 fuEu ls vki D;k le>rs gSa & 	  
	 (i)	 ekuo vka[k dh ^n`f"V nwjh* lhekA	  
	 (ii)	vk¡[k dk ^vU/ fcUnq* (CykbaM LikV)	 
(b)	czsy fof/ fdlus fodflr dh FkhA bl fof/ esa fdrus fcUnq izfr#iksa (iSVuZ) dk  
	 mi;ksx fd;k tkrk gS\ ;g fcUnq izfr#i n`f"V izHkkfor O;fDr;ksa ds fy;s 'kCn  
	 igpkuus esa fdl izdkj lgk;d gksrs gSa\

27.	 (a)	 Give reasons :	  
	 (i)	 Phosphorus is stored under water	  
	 (ii)	 Metallic pans have wooden handle	  

	 (iii)	 Bells are made up of metals				     

(b)	 With the help of an activity explain that metals react with oxygen to form  

	 basic oxides.		   5
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(a)	dkj.k crkb, %	  

	 (i)	 iQksliQksjl dks ikuh ds uhps j[kk tkrk gSA	  

	 (ii)	/krqvksa ds crZuksa ij ydM+h dk gSaMy yxk;k tkrk gSA	  

	 (iii)	?kafV;k /krqvksa ls cukbZ tkrh gSA					     

(b)	,d izfØ;k (,DVhfoVh) }kjk ;g le>k,a fd /krq,a fdl izdkj vk¡Dlhtu ls 

	 izfØ;k djds {kkjh; vkWDlkbM cukrh gSA

OR (vFkok)

	 (A)	 Student performs the following steps in sequence : He takes a magnesuim  

	 ribbon and rubs it with sand paper. He next puts it in a boiling tube  

	 that is filled with water and inverts another test tube on it. He warms the  

	 lower test tube over the flame of a burning burner.	 	 	 	  

	 Answer the following :	  

	 (i)	 Why did he need to rub the magnesium ribbon before performing  

		  the activity?	  

	 (ii)	 Why did he need to heat the lower test tube.	  

	 (iii)	 Which gas is involved and how could he test it?	  

	 (iv)	 Give the chemical equation of the reaction.	  

(b)	 Compare the reactivites of sodium and gold metal towards water.	  

(a)	,d fo|kFkhZ ;g dk;Z fuEufyf[kr Øe ls djrk gS & og ,d eSXuhf'k;e fjcu  

	 dks jsxekj ls jxM+rk gSA og mls ck;fyax V;wc esa j[krk gS] tks ikuh ls vkèkk Hkjk  

	 gqbZ gS] vkSj ml ij nwljh VsLV V;wc dks mYVk dj j[krk gSA og uhps okyh V;wc  

	 dks xeZ djrk gSA fuEufyf[kr iz'uksa ds mÙkj nhft, %&	  

	 (i)	 mls eSXuhf'k;e fjcu dks jsxekj ls jxM+uk D;ksa vko';d Fkk\	  

	 (ii)	mls uhps okyh VsLV V;wc dks xeZ D;ksa djuk iM+k\	  

	 (iii)	bl izfØ;k esa lEcfU/r xSl dkSu lh gS\ mls og dSls VSLV dj ldrk Fkk\	

	 (iv)	bl izfØ;k dk jlk;fud lehdj.k fyf[k,A						   

(b)	ikuh ds lkFk lksfM;e rFkk lksus dh vfHkfØ;k'khyrk dh rqyuk dhft,A
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section - B ([kaM&c)

28.	 The crop, which is sown during rainy season, is 			    

(a)	 Wheat	 (b)	 Mustard		   

(c)	 Maize	 (d)	 Linseed	  

og iQly] ftls o"kkZ ½rq esa cks;k tkrk gS] og							     

(a)	xsgw¡ gSA	 (b)	 ljlksa gSA					  

(c)	 eDdk gSA	 (d)	 fyulhM+ gSA

29.	 Acne and pimples are common among adolescents due to increased activity of	  

(a)	 Pituitary gland	 (b)	 Sebaceous gland		   

(c)	 Sweat gland	 (d)	 Thyroid gland	  

fd'kksjkoLFkk esa gksus okyh (peM+h dk jksx) ,SDus rFkk eqagklksa dh leL;k,a fuEu 

esa fdl xzafFk ds vf/d fØ;k'khy gks tkus ds dkj.k gksrh gSa\	  

(a)	 fiV~;wVjh	 (b)	 lSckfL;l		  

(c)	 LoSV		 (d)	 FkkbjbM

30.	 Name the process by which yeast reproduces?	 

;hLV dh tuu fof/ D;k gS\

31.	 What are 'crumbs in the fields'?	 	 	 	 	 	 	 	

^[ksrksa esa <sys* D;k gksrs gSa\

32.	 Name the vitamin that enables the human body to absorb calcium.	  

ml foVkfeu dk uke crkb, tks 'kjhj esa dSyf'k;e dks lks[k ysus esa enn djrk gSA

33.	 State any two advantages of transplantation of seedlings.				  

iQlyksa ds izfrjksi.k (VªkUlIykVs'ku) ds dksbZ nks ykHk crkb,A

34.	 State one characteristic that is found only in mammals and that differentiates  

them from amphibians.		   

og dkSu lh ,d fo'ks"krk gS tks dsoy Lru/kfj;ksa esa ikbZ tkrh gSa vkSj tks mudks mHk;pjksa 

(ty&LFkypjksa) ls fHkUu gksus dk dkj.k gSA

1

2

2

1

1

1

1
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35.	 Shreya and Shyam were not able to bear children. Shyam's mother was blaming 

Shreya for them being childless. Ramesh, Shyam's brother, visited them after 

some time. He explained to his mother that it was not necessarily so. He 

got the couple medically examined and found that Shyam had a low sperm 

count. On following the doctor's advice, they were able to bear children.	  

(a)	 Why does the child have some characterics of the father and some of  

	 the mother?	  

(b)	 State (any two) of the values depicted by Ramesh.	 

Js;k vkSj ';ke dks cPpk ugha gks jgk FkkA ';ke dh ek¡ Js;k dks gh bl ckr dk nks"kh 

eku jgh FkhA dqN le; ckn] ';ke dk HkkbZ jes'k mUgsa feyus vk;kA mlus vkdj viuh 

ek¡ dks le>k;k fd ,slk gksuk vko';d ugha gSA og nksuksa dh MkWDVjh tk¡p djokrk gSa 

ftlls irk pyrk gS fd ';ke ds 'kqØk.kqvksa dh x.kuk de gSA MkWDVj dh lykg ekuus 

ij mudks cPpk gks x;kA								      

(a)	cPpksa dh dqN fo'ks"krk,¡ ekrk rFkk dqN firk ij D;ksa gksrh gS\			 

(b)	jes'k }kjk dkSu ls (dksbZ nks) izfrewY; n'kkZ, x, gSa\

36.	 (a)	 How does excessive supply of water affect a plant?	  

(b)	 Differentiate between manures and fertilizers.	 

(a)	ikSèks dks vko';drk ls vf/d ikuh nsus dk D;k izHkko gksrk gS\	  

(b)	moZjd vkSj [kkn esa vUrj Li"V djsaA

37.	 Why is it necessary to remove weeds from the fields? Enumerate any two  

methods by which 'weeding' can be done?		   

[ksrksa ls [kjirokjksa dks gVkuk vko';d D;ksa gS\ dksbZ ,sls nks mik; crkb,] ftuls [kjirokjks 

dks gVk;k tk ldrk gSA

OR (vFkok)

3

3

2
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	 (a)	 Name any two farm machines that helps in threshing.	  

(b)	 Name two places where perishable food items are stored.	  

(c)	 Write the full form of FCI.			    

(a)	nks e'khuksa ds uke crk,¡ ftuls Fkszf'kx dh tkrh gSA	  

(b)	tYnh [kjkc gksus okys [kk| inkFkks± ds Hk.Mkj.k fdu nks LFkkuksa ij fd;k tkrk gS\	 

(c)	 FCI  dk iwjk uke fyf[k,A

38.	 (a)	 Describe the structure of a human sperm and name its various parts.	  

(b)	 Draw a diagram of the female reproductive system and label the parts  

	 where								         

	 (i)	 Production of eggs takes place.	  

	 (ii)	 Fusion of eggs with sperms takes place.	  

(a)	ekuo ds 'kqØk.kq dk fp=k cukb, vkSj mlds fofHkUu Hkkx ds uke crkb,A	  

(b)	efgyk iztuu iz.kkyh dk fp=k cukdj ml ij fuEu Hkkxksa dks vafdr dhft, %	  

	 (i)	tgk¡ vaMs mRiUu gksrs gSaA	  

	 (ii)	tgk¡ 'kqØk.kq vkSj vaMk.kq dk lay;u gksrk gSA

	A lternative question for visually challenged students in lieu of Q. No. 38(b)	  

n`f"V izHkkfor fo|kfFkZ;ksa ds fy, iz- 38 (b) ds fy;s oSdfYid iz'u		   

Describe in brief, the structure of the female reproductive system.			 

^efgyk iztuu iz.kkyh* dh lajpuk dk laf{kIr fooj.k fyf[k,A

OR (vFkok)

	 (a)	 Define Metamorphosis	  

(b)	 What are the changes found in Tad pole after metamorphosis?	  

(a)	eSVkeksjiQksfLl dks ifjHkkf"kr dhft,A					      

(b)	eSVkeksjiQksfLl ds i'pkr~ VSMiksy esa D;k&D;k ifjorZu gksrs gSa\

5
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39.	 (a)	 What does a diet, heavily dependent on fast food, result in?	  

(b)	 How are physical exercises important for adolescents?	  

(a)	vf/drj ^iQkLV iwQM* ij vk/kfjr vkgkj ls gksus okys ifjek.kksa ds ckjs esa 	 

	 fyf[k,A	  

(b)	'kkjhfjd {ke fd'kksjksa ds fy, D;ksa vko';d gS\

OR (vFkok)

	 (a)	 How is growth and metamorphine controlled in insects?	 

(b)	 Name the glands responsible for 			    

	 (i)	 Growth and development of the body.	  

	 (ii)	 Maintaining the blood sugar level of the body	  

	 (iii)	 Response during stressful conditions.	  

	 (iv)	 Regulating the metabolic rate of the body.	  

(a)	dhM+ksa	 esa fodkl vkSj eSVkekjiQksfll dSls fu;U                                     f=kr gksrs gSa\	  

(b)	ml xzafFk dk uke crkb, &	  

	 (i)	tks 'kjhj ds c<+us rFkk fodflr gksus	  

	 (ii)	'kjhj ds [kwu esa phuh dh ek=kk mfpr j[kus	  

	 (iii)	rukoh; fLFkfr;ksa esa mfpr izfØ;k nsus 	 

	 (iv)	'kjhj dh mik;p;h (eSVkcksfyT+ke) xfr fu;af=kr djus esa lgk;d fl¼  

		  gksrh gSaA

5


